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o A man shoots a target. When sunny day, he has )
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a In a gamble game, there are three cards, two

are blank and one has sign. They are folded R~ w_,nr 5.u M 4t 1 vourd
m.:a put on ﬁm_u._m_ and your task is to pick the W, : -« Essu S
sighed card. First, you pick one card. Then, the
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the remaining two. Now you have the option to
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a A man shoots a target. When sunny day, () %TEIP BSFF
he has 0.8 prob. to hit the target; when hit , Wit ALY Yain
raining day, he has 0.4 prob. to hit. The ’ ’
weather has 0.7 prob. to be sunny, and @ : p Gua | _:,nv 7

0.3 prob. to be raining. _op vain | hie ) 2
a Q: the man misses the target today, what ﬂm.:.»_ us:v =0. g
is prob. that today is sunny? Raining?
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